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CORRECTION

There is a mistake in the original paper in Equation (4) and the following Equation (5).
These equations have in common an integral expression that refers to the likelihood of
undetected evasion. A Jacobian term is missing from the integrand of this expression.
Brian Erard and I discovered this a few years ago and I want to be make the correction
publically known. I am indebted to Brian for helping to identify the problem and work
out the solution.

In the paper, Yi represents detected income for case i, yi is true income, and si is the
detection rate, a fraction between zero and one. The model is formulated in terms of yi

and si, but it is detected income Yi that is observed, where

Yi = si ∗ yi.

The integral expression in Equation (4) of the paper (and also in Equation (5)) is evaluated
over all possible combinations of si (from zero to one) and yi (greater than Yi) that yield
the observed value of Yi. Specifically, si has been set equal to Yi/yi in the integrand.
Formally, this represents the following change of variables:

si = Yi/yi

yi = yi.

The Jacobian matrix associated with this transformation is
(
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)
.

The Jacobian is defined as the determinant of this matrix, which is just 1/yi. The integral
expression in equations (4) and (5) of the paper should be multiplied by the (absolute
value of) the Jacobian term, yielding

∫ 1

0

1
σ1

φ

(
y − X1iβ1

σ1

)
1

σ2y
φ

(
(Yi/y) − X2iβ2

σ2

)
dy.

One additional comment. In the paper the integral is formulated over true income yi.
Brian has suggested that in many cases it may be preferable to formulate the integral
in terms of si. The reason is that si runs over the bounded interval (0, 1), whereas as
formulated in the paper the integral runs over the unbounded interval (Yi,∞). Again the
Jacobian must be worked out for this alternative formulation and it is just 1/si. Under
this formulation, the integral expression in equations (4) and (5) of the paper is replaced
by
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The paper follows.














































